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Paper — 1.5 : BUSINESS ORGANISATION AND MARKET DYNAMICS

Time : 3 Hours

SECTION - A

I. Answer any 5 sub-questions from the following. Each sub-question carries
2 marks. (5%2=10)

1) a) What is a private company ?
b) Give the meaning of meeting.
c) Give the meaning of duopoly.
d) What is Debenture ?
e) Give the meaning of proxy.
f) What is money market ?
g) Give the meaning of one man company.
SECTION - B

#

Il. Answer any 3 questions from the following. Each carries 5 marks. (3x5=15)
2) Explain characteristics of perfect competition.
3) State and explain the merits and demerits of preference share.
4) Mention the duties of managing director.
5) What is MOA ? Explain the clauses of MOA.

6) Explain the importance of primary market.
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SECTION -C

Ill. Answer any 3 questions from the following. Each carries 12 marks.  (3x12=36)
7) Explain the various types of bonds in India.
8) What is meeting ? Explain various types of meeting.
9) Discuss the classification of joint stock company.
10) What are the functions of secondary market ?

11) Discuss the exceptions to law of demand.

SECTION - D

IV. Answer any one of the following. This question carries 9 marks. (1x9=9)

12) Draw a chart showing classification of joint stock company.
OR

Draw a chart showing the different kinds of company meetings.
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. 83 BINT CIRPYTTTUR T NT-T,ZON U0, Fd WT-TZ R 2 o3nsd.  (5x2=10)
1) a) 200N BoTR DOTITED ?
b) =g3cDd SIGTVaS) 2B0WD.
C) QA SRTTLODL SHFBIY S9R.
d) Do, Q0TTED ?
e) SO TIEAW QOTT o3 ?
f) e ma}ﬁ:i WOTITED ?

g) &% T3 TOTICL LTFHE WIWD.
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1. 83 F$NT CIRT[TTTR WD TINOn VZBoR. B3 B3 5 woEnew. (3x5=15)

2) ToZpear a:zﬁrod: mmvimr‘:@;ig( QOR WB0WD.
3) T,TF,T Heoond R0BRe WD CTREBRUNTI) &92.
4) ﬁwx%a’ﬁ QTFeTTT é@‘?ﬁﬁﬁe}ﬁg_ BVEeDR 20T0N0.
5) MOA «0z8e30 2 MOA o HOBNFT, DO WBW0.
6) T2,m0E TRTBE oD ROTIZW) S9R, 2T[OR WToWD.

TN — 2
1. 83 3$NT cIRFTE3R Saedd T3 Nen wB0R. B3IT IR 12 wosned. (3%x12=36)
7) YRTBBOR A0 dedad 2300 M) QTOR WBWR.
8) R 2TV 2 DA dedod RN Q0.
9) BRRED WoRET FOTIOD aﬁs'eacjsa;ssi el A,
10) Q2ec®d TRTTE 0 TODF D CINTTIOR WFOR WSWD.

11) Se&odh mogert WTIOWENTY, 283 % 2TOWO.
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IV. 853903 word @s;ﬁ QUSBO. B4 ﬁ_)a;;ﬁ 9 wosnTh. - (1x9=9)
12) 3% woBY :a‘cﬁ@cd) AN o] az;memg( 2RI mﬁodoag{ 303n0k.
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